AC

-4 -3 -2 -1

2

1

0

:—1.8

®cC

12



2.

ohe A 74

1=M?

oL

< QAlel Hie weh ], A%

T?gi

0] A-g

=

s

={(-11)+(-10)}+(+2)
=—(11+10)+(+2)
=(—-21)+(+2)

=-19

(=11 +{(+2)+(-10)} —
=(-11)+{(-10)+(+2)} =

-~

It

I

@® 00

t

Do ®©®a0,o6e0 ®0,6e @0 o 6 00

ftlo



3. FAAF 48,56 O] HAaFurE?

D 22x6x7 @ 22x6x7 B 22x5x%x7

@ 24%x3x7 ® 2%x6X7



4.

o 5 Ua BATE &

DO +1<-2

@ |-6.6| > |-7|

VAl

o

rlo

@ 35<-4

® +§<'—

11
15

® -->0



(E71) 9] Alitel A A-g Al 227

©
jm )

ot

5.

1

I~

o

ol

N
g
B
™
T
=H

Ho

i~
ol
Pul
or

A

Ho



7F2 9] Zo]7} 140cm, A2 2] ZAo]7F 105cm, =°]7F 210cm <1 &
SHAE 7 o 7P 2 ASHAR 715 222 gt of,
AHEEE AS5AA ] g A 2] dolE acm, ASAAY H4+E b
Met & o, a+ b Q] FH2?

@D 107 ® 108 3 109 @ 110 ® 111



VN

0w B4 x = B E AT

|
W~
IA
=
A

@ 7H @ 670 ® 570 @ 474 ® 37



8. UaAdY T &2 A2 Zow?

© Adigke] &2 = 34 2 7ot

@ 02 fFEgolt

@ F el Atolele B ohe fE47t U
@ 0.9 ol 7 717k B 0 ol

® A 1A =5 ¢ 3 ofl Hi-&-5h= oA 22 712l =
Ao J&5h= 4= 1 ot}



(-6)_J(+8) - (-10) =[]

® +, 8

-4

O +,



10.

200 7} 22 x x o] -5

D 5 ® 4

Fo7h 20 € o, x o] 25

3 3 @ 2



3
_ m
W
<+
Otw
= T
=
=0
o ™
F -
i
~ 7ol
)
NE 2
B
U

@ 474 ® 770 @ 971 ® 1170

@ 374



i

12, oh& Ul frels FolA AR T Al 52 Bot 3T 1,
 5G0E m ol2t 51, M+ m ©] ke Fatolet




L e 5719 =9 FH

'].7]. 7 2 T A9

7)e3t 217 7]

SA| Z1712(C) Z[X712(C)
A -2.6 -10.8
B -2 -6.8
C -0.3 -5.2
D 2.4 -0.5
E 1 -1.8
® B 3 C @ D

22 e



Uj__

\/



15. 3% =g, 11° =121 & WE5H= A5 g, b o Oi5F] a+b 2] 3H2?

@ 29 ® 30 B 32 @ 34 B 46



B 72 @ 160 B 98

@ 60

@D 144



17.



18.

® 15

@ 16

® 19



@ ab<0 © lal+1|b| > 6
D a>-1 @ -a>-b @ lal- b >0
@ la—-b|>6 ® a-b>6




<

o
L]t

°f

P

7 3

A’ B’ C3 D, E7]’9\1]\1,

S|
=

S0l e 717 e]

ol

—

I

<

H&5= O
BSES

d, e 7} 212} -3t lal > |d], b] < le] & ™, 21

HA2? (Fa<b<c<d<e)

S

a, b,

2~
T%‘i

)

e

e

C

@ b

a



